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ALGEBRA

TRese we Second fosmula’s WHicR are offen used
in s %o‘f)l'c'

1- (a+b) = a%+pZteab

2 - La+b)1 = a%+bZ+ 2ab

3- (3-b") = @b &b

u- @+b) = (@b +uab

5- (a-b? = (3a+b)*- uab

6- (a+b)> = 32+ 3a%p+3ab + =3+ b+ 33b (ath)

- @)% = g3 p3- 3 (a-b) = 33~ b3- 33%b + 3ab°

8- @+ = 3% +uadp+ 6a*p*+uabd+ pH

g-(ath’ = 35+ 584 b+ 1033 b> + 1037b°+ 53bl+ b°

10- @-b)" = aY -yadb+6a%b> + uagp + b

f- 3-b)° = 35— 53%b+ 103%h>- 10a%h3 +53b - b

go- 33+6° = (3+b) (3% b +ab)

13- 3°%-p® = (3-b) (3%+b*tab)

qu- 3% b® = (ab)’ (8%+b> + ab)

15- 33-b3 = (a-b)3+ 3ab @-b)

1b- 33+b63+c3- aabe = (a+tb+c) (™4 b+ ¢ ab-bc-Ca)
4%- 3> +p +C -ab-bc-ca = % {zaﬂo_bﬂ zcz—zabﬂbc-?-Ca}

= 4 J3%bi-2abe b c* 2be+CH a“-zacj
2

2 2 2
— - -
_45 [(a b) t(b-C) +(C-3) 3
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2 Z
18- 3°+ pd+c®- 3abc = L (arb+g [La—bfﬂb-m (C'G’J

19- TP g+b+c=0, Hen 3% b+ = 3abc
20-  3%4p? = (@+h) - 2ab
21* 'a'?'_‘. bQ = (a~ b)z'f 28b

22— (@a+b+e)= (% b2+c>+2ab+2bc+2C3)
23- (a+b+c:)3 = 334 p2+c®+ 3 (ath) (bt) (c+3)

ou- aY+pd+a’h’ = (3+b-ab) (@%+ b>+ ab)
25- (atbh) — (a-b) = uab
- (a+b) + @b = 2(3%+bY)
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A4
Quer- TP wad =2 Hhen Lihat is Ho Value of Mg 7

Sﬂn:“ ]:h SUC-P\ q/LlQSthS y We Pu'l’ poss\b_o_n \Value of H ih
eQh fene Possible value 1S H=1
=1+4 = @
(s

. aq, L
Que Tp w+d=-2 , tHat is e Value OF W =

Q@ 4
S0 answey (1) t g

|1
=

H=-1

_mA A e -
1)\ 4 61)511) /A

Solh—

e

x
chp

Tonlek s
5485+5 _
5H-3 S5Y-3 + 52-3 ) = 3 =5
" Y 4
Jo Do Sum of Common mubtbles of adbRahet ahd divide

by Constant Valug «

(1
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: " - = A iL. &.:
Quer 9n-s 935*925=0:7+3+z ?
M 3 va
San-  _ 94-5
32 ‘d Z
= 9+9+9 _ 2t
5 5

Quer 2a+3b=u, g3 3+2%b3+ 12ab ="
Sol-  Hasic:
23+ 3b=u ®
Cube to both Swdes of egh
(2a+3b)°= (W3

(23)3+ (3b)3+ 3x2x3b (23+3b)=6H
ga3+ 9 13+ 48abxu = 6Y
ag3+ 23b>+ F2ab =6

J’& ﬂssume +he Value of a and be \/\I‘R\\CR Satistres

the eq" @ and Cabewlation of that eq" SRould be easy-

23+ 3b=u

|

a=2 b=0
2x2L + 3x0 =\
u =y
’f‘ﬂeho 3 3
= §X(2)+2FxO +7F2X2LXO
= oY
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Que - at+bi-ct =0
6.\_ bs - cb —
32‘ b'). X C']. :?
o= Torek *
Assume e Vatus of A, B and C
d=1 o b'—‘-q- ° C = J2
Put these Values (n egh
— Q6+ bé__cci
= whi@b-ant | A28 e,
2- @ > 1:12 2
@asfc:
3% bo-c*- 0
A% b = ®
Cube to +Re both Swdes of eqn
@ b%)% = (¢ LRI
ab4 bt + 33b>x (@ p*) =t Given in eq "
g4 pb 4 38%b2% CT = O
64 po-ct=-33%*p*c*
Put the Value n egh
-3a%b*c* - -3
a’). b'). 2L
3tb , brc (48 +0 + &
Quer a+bte=o (= +2 )(b+o e a+b) 7
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Sod-  Q+b+c=0
atb =-C, bte=-a, Cta=-b

Put e Value in egh

= (-£+(—_a)+ :_li) (;a_+£+—c—)
c d b -3 b

= -3¥-3 =3

“ @ 10 2 ]
Que- 3%p° | b*ac =3 oy
a*+b®  p2+ac  eZ+ab

2

Hhen tRat is Hho Value op 82+ b* ¢ _ o

2 = 1
a%+bc  p%rac c*ab

Solh- Basic
2 2
E—bC+b~8C +C%ab:1
aZ+ bc b2+ ac c21+ab

Add 3 ih botR Sides,

2 B 2
- bce -
3 -5 +4 4+ b HC*1+C—ab+1=1+3

3>+ be b*+ ac c*+ab
a - pe+ a*he . b-3ac+b*+ac cZab+c’+ab _ q
n it )
3 % bc b+ 3c c*4ab
2
2° + 2b® 2c* =\
37'-(- bC bq'-\- dac c7'+ ab
2 2 *
C

b
7+ b*ac C2+3b
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— - g3C s
3%-b- | b-3c  c’-ab _ 4
3>+ be b2+adc c*+ab

Here in Such Questions, e Consider +Rat % 's e \Valdua
¢ eack )faax‘c of eo,“ (L'H.5) Shd 3N of Hnee makes 1
sshHiene Som'.

a=—pc _ 4 b>-ac 4 C%ab

—

-~

1
= ) - 3
3%+ be 3 p2yse 3 c%aab

2 2
232 zbhc =3 +bC o 3 b2 3ac = b+ac, 3¢ ~33b=c"+ab

. 2
262: ubc bl—_-QCa ; :zab
2 9

q = 2be

<0 Pgt Hhe Vabues in €quation

2bc - be 23c-ac  2ab-ab

2be + bce n gC+ac 23b+ab
_ 2bc , 23C , 2ab
3 bc 3acC 3ab
= & =2
2
o= (3%+1> +c?) = (8btbc+(s)
Find 3%0 _¢
< .
- Basic -

m‘*ﬁ‘%ﬂﬂ the &3P by 2 in both Sides
2 (@2+b*+c*)= 2abt2bct 2Ca

% b2 2ab+ b +C-2bc+C*+3°-2Ca = 0

(-0 2+ (b-0° +(C-" =0



@
@jph@ww [

nleash the topper in you

As Wl Studied before , eacR Part Ras equal Valw of egh
So One Pant rs equal to Zeno.

(8‘b)2= 0 (b-c)": 0 (C~a)z= Q
da-b = (9 b=C CcC=3
d=b
tHen 3= b=c
- atb
C
= C¥C ¢
o
"~ [wick

Th His tyPe of Cwesﬁ‘ons , We assume Ho Valwe oy

for easiey you Cah assume d=b =c=1

= 3+b
C

= 141 = 2
A,

Que- (a2+ b%+c?)2 ab+ berCa
U+ 53—32 :?
Z
SolnL  Assume the Valu
d=b=c=1
So, Ux1+5x%1-3x1
1

=6

Que- ‘a+—b¢— =il o b+-§-=1, 3,b,¢ # 0

Hhen, Ping +#h Valw of ab-c 7
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Ans - Basx‘c
1 _ 1 1 o
at b =1 b+ = = 1 C+ 5
il -y bevt = C d9Cc+1 =3
b b bc-c = -1
ab+1 = (b-.l’) =-1
h’tuﬁh‘blﬂ W&eq/h
th botf Sides byc
abc+c= bC
abc= be-C
abc =c (b-1)
abc = -1
| mick—
———— fissume fa Values,
a=2, b:-—ﬂ,, C:_Z‘_
h- gbc
@u’( ih €9, L,
= 2¥-1x 5 =
QUQ'T' Hl‘:— 3'%2 ) 39': Z+H, 2%= H+ta
L A i
find o Vaw of —T ot o 0

Solt Toick Assvme the Valw of H,Y ahd Z

H"-S-"—'Z:Q
- 4 4, 1

- 3 1 =(l
240 Y 241 241 2

@as(c 4

H+L

: 8 . 1
Yyl Z+L

Mul’ﬂbma K nurutator and denominatos



[T
@@ﬁmxw@gﬁ

nleash the topper in you

1]
X
ac
A
\N

2
WairHo 84Ty
z
+
Z+t HYY HtytZ

I

ytz+H

- H+y+Z

H+ Ytz

=1

Que- a3b= abc =159 Pind Valw of €7

§O.Q“}"IF §/B)z$:8b(‘,

2
a =¢C
ow assume ARy Vabue @ and C and Pat th egf
d=Cc =1
180 vo e assume He Valuw WHicR
e Satisfies ¥u eqn apten Putﬁhg
1xbx1 = 180

e Values means L-H:'S and
b=180], [C=1][3=1 RHS SRould be equal-

2

I - S S

b+C c+a d+b

Soih= 3 =1 | 33= bre 0

p+c 3

_b_ — _ﬂ; y 3b = C+3 @
+a 2

Cc _ 4 , 3C = 3+b @
i B
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Sum to eqh@® ,@ and

3 (a+b+c)=23+2b+2C
a+btc =0
and Put e Value fvom eq" @,® and @
= af + b c*

348 3b 3¢
3 3

Que- a%+bac®=12(8-b-0) 73
2a-3b+uc= ¢
Sol"- Basic: " 2
= T —g=2zatdtb +2britCH20+1=0
(@-1)2+ (bra)>+ (e+D) =0
3=1 , b=-1,C=-1

Put in egn
= 2%x1-3x-1L+4x-1
= 243-u=1

- Tylek =

Assume o Valus thst Satisfy above eqn
a=4,b=-1,C=-1
@)Qﬂ—i)?'—\-(—i)z: 2 (1+2+V) 3
3 =3

501
pxdl-3%-1xux-1 =1
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Fosmula

2
H +3Q+ aH+ bytc=0

"H\eh, — Coffycient of H

H=

2x Coffcrent Of M= [

g = ~(Coefricient of y

2x Coeffictent of y2

1 .

7 - —(oefficient op 7z

2x Coefficient of z 2

—
—

A

=20 324- bl-i-C’_?-— A3 + 2b + 2C -3 =0
g= *+2 i
2x1
b= -2 =-1 , C= .
2¥1 2x1

Put o Values in egh

= 2X1-3X-1L+\ux-1

=1
Que - HQ+3°‘— GH - 8H+25=0
H-y = ?
S+ fosmula:
H = —X=6 = 3
2%x1
- —X-9 _
J 2%
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Unleash the topper in you

Practise Younself —

-—

Quets g4 L -0, (3+2)°+
a+2 » C (a+2) 2

Que2» F’—’lq,:u v P3- 8q,3—- 2qPq,—€u=?

Que.z _
3 =2 4842 L 622 o 4 L L0

W r z Hog oz
s 1

=1 , 3+;=1,z+_ﬂ-“_=7

Dueus w+
Quess 13y =gz = 150 Find Hy Value o § 7
Ques= M ty*— 10H + 42§+ 61 =0 ) 21+ 3y =

Que. 1 => 16H2+ Ll\Lf'-— UOMH + 123-% U AO g/ = ?

Ans-1= 2
Ans-2 > O
Ans-3=> 3

Ans-u = o1l
Ans-5 = 450
Ans-6 = 8
nst = 4
Ans /L’
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= These ane two Concebts On tha basis of that Ssc

of asks the questons.

I Mt d g — > wn Ll =a%2
| H HZ

(o) -
Ha %qf a=2 -
[: H+ﬂ;4 =3—> H +:;2—a +2J
.]H+—i‘—-—a———>“ = 2= T a)a%y \
Jet a=H, b=%‘.
+He(na,+b) 2 (g-p)>= uab [Qivenin Formul Seckon -Rormulal2s)

2 q 4 1
<o, Q“LEH_) L Ql-_g) = Ux ¥ x 7

L
(n-d) = JERgyEw ) = [0 )
H
(—%) = \a%-y
1 ~L\=3)3%uy
S0y, 2L = K“**H‘)Q* n)
HQ_
2_ 4L - 3 2
° H-%za,u v [a +9
e |M+Lt=3— 13+ L =a%-3a3
H . nd
= H+% =33 .
= ma A g 3w (M)
H3
3,4 " 33—~3a

]
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H—i‘_z’a—-———'——?H
H

H

3_% = a3+ 387

3"

33

1 _A) =33
3 _.1;. -—BXHX'-(H —)
e 13 H H
T3
H
—33—337&?

Cu+ 2 _a————>(CH)+Ld)

dy
.
Q—{-&—_ﬂ;— :(1)3
=3+ L +'5xux——
13
H3
U
-1 -1

()=

e LHen (H+T:L4—=1) (S 3(‘Ueh,+ﬂeh
4 _
Hr= = [3

—
_—

Q—H%f =

3 4 1 1
— + XHX — =
H+0s 3 H (H+3?) 3

HE= -1

(5)°

n34 _1-_5 = 3-3 =0
H

né+1
3

H6= —1.

=1

H3=
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L .1
s L =1 , Hen M+ =

®
rtr
£
x|
i
~x
e
+
r\r—* 3]
N————
/r\
I\
+
r|r>
S
|
7 x
N
k-
|P
¥
N——

" foo ah‘a Powen of H , e Factowise (Powes and
Mu_QH‘EﬂJj +hat and 3ften gt divide e diffenence of- tham-
5 = (3) (3 -(1) , 6= - ()
(w @-@) 1= 6@ -Q)
(VI } —(1)
1 =W
Quer m+i=u, w2+ X =7

H'Z.

1 a1 e
Sol - Wfen, H+5 =3, Han ¥+ 2

2
<0, HQ’r%: wW-2 =1y
H



